MERCURY

Leadership through innovation

Hydro Pneumatic Presses

The efficient, low cost alternative to Hydraulic,
Power and Hand operated Presses

Mercury Pneumatics Pvt. Ltd.

C-105, Ansa Industrial Estate, Saki Vihar Rd, Andheri (E), Mumbai - 400072. India.
Ph.: +91-22-40344200
E-mail: mercurypneumatics@vsnl.net Website: www.mercuryindia.net




MERCURY Hydro Pneumatic Presses are products of extensive development efforts initiated in 1988. Over 18,000 of
these time tested & reliable machines are working in various industries all over India as of January 2015

Salient Features

Fast Action : 2T @ 100 cycles / min (CPM), 4T @ 60 CPM, 8T @ 40 CPM, 15T & 30T @ 20 CPM
Compact, light weight & vibration free : Can be mounted on existing work benches without any foundation
Versatile : Force & speed can be varied infinitely. Machine can be mounted in any orientation

Energy efficient : 50% to 70% saving over equivalent hydraulic and pneumatic systems

Low cost : Upto 60% cheaper than hydraulic presses

Safety : True, non tie down, interlocked Two Hand Safety operation

Aesthetics : Specially designed two tone, squareline cylinder

Sequence of Operation

There are three stages of operation

(a) Initial low force, large travel, fast approach (Fig.@)

(b) High force, short travel (6, 12 or 24 mm), Power Stroke (Fig.(3))
(c) Low force, rapid retraction (Fig.(4))

The low force approach and retraction at 5 bar air pressure results in upto 70% saving in energy.

Start Position Low Force Rapid Approach High Force Power Stroke Low Force Rapid Retraction
N J

Typical Applications

MERWBX Hydro Pneumatic Presses are ideal machines for any application requiring pressing force from 0.4 tonnes
to 45 tonnes. They are specially suited formetal forming.

/ N N N

m

Rivetting JAN Blanking L Straightening Clamping JAN Stamping




A\ Hydro Pneumatic Press - Standard Features  [[{{T{T[}]

( LOW OIL LEVEL SENSING ) ( DIGITAL STROKE
. COUNTER
= — !
LOW OIL LEVEL
SENSING SWITCH . 9 9 9 9 9

LOW OIL LEVEL LED
GLOWS AND PRESS
OPERATION STOPS

NORMAL LEVEL LOW LEVEL
G /. J

Hydro Pneumatic Press - Optional Features

SAFETY LIGHT CURTAIN) ( AUTO CYCLING OF POWER STROKE ) ( LOW ENERGY SYSTEM )
=i (STANDARD IN SERIES ‘A’)

RAPID APPROACH 1ST POWER STROKE

§ § E § APPROACH RETRACT

TRANSMITTER

RECEIVER

AT 5 BAR AT 1 BAR
S )L 2ND POWER STROKE 3RD POWER STROKE JAS )
(LOW & HIGH PRESSURE SENSING | [ POWERSTROKE |[ DUAL FORCE CIRCUIT
DEPTH CONTROL
SWITCH M 105
Y A Y90 [ /(‘*‘
IN NN NN
NORMAL LOW FORCE
LOOSE K. TIGHT
@ PRESS OPERATION STOPS (REJECT) (REJECT)
VRN VAN J
4 N\ [ \
CONTINUOUS CYCLING
AUTOMATIC LUBRICATION [AUTOLUBE|®
PROGRAMMED POSITIVE 70 LINK WITH
LUBRICATION UNDER PRESS FEEDERS
PRESSURE AND OTHER
AUTOMATION
DEVICES _
\§ J i
PARKING FEATURE ) JOB EJECTION [ RAM LOCKDOWN FEATURE )

(STANDARD IN SERIES ‘A’)
o &
5 gl ] %%
T, 1 || [ I Jh
I 10 BOTTOM BOTTOM' BOTTOM
WITH AIR ON WITH AIR OFF  WITH AIR OFF & RAM
—1 — RAM COMES DOWN LOCKDOWN FEATURE

\_ NORMAL TRAVEL PARKED TRAVEL ) L RAM REMAINS UP )




Series ‘A’ Hydro Pneumatic Press Cylinder \

"l
| = -
T

M

*

OIL FILL / AIR VENT PLUG

LOW OIL LEVEL SENSOR

PARKING VALVE
FOR HIGH SPEED .
APPLICATIONS

AUTO LUBE

OUTPUT OIL PRESSURE
GAUGE CALIBRATED
TO INDICATE FORCE

PRECISION HONED &
HARD ANODIZED BARRELS

PRECISION GROUND &
HARD CHROME PLATED
PISTON ROD

POWER STROKE DEPTH
CONTROL

REGULATOR AIR PRESSURE
GAUGE

SUB-BASE MOUNTED

SOLENOID VALVES FOR

QUICK REPLACEMENT WITHOUT
DISTURBING ORIGINAL PIPING

ENERGY SAVING VALVE

HEAVY DUTY PISTON TYPE AIR
PRESSURE REGULATOR WITH
LOCKABLE KNOB TO ADJUST
TONNAGE

BLEED VENTS TO DETECT
SEAL WEAR

FLOW CONTROL VALVE FOR
FORWARD SPEED CONTROL

RAM LOCKDOWN VALVE

(% OPTIONAL FEATURES)

COMPACT “TRUE” TWO HAND “NON TIE DOWN” SAFETY CONTROLS

DE2HS

AUTO / MANUAL INDICATOR

FUSE
DIGITAL STROKE

COUNTER POWER “ON” SWITCH

EMERGENCY STOP BUTTON

HEAVY DUTY, TWO HAND SAFETY, SHROUDED PUSH BUTTONS
(CAN BE MOUNTED AT ANY CONVENIENT LOCATION)

Standard Features
Auto & Manual Mode
2 Hands Safety

Digital Stroke Counter
Low Qil Level Indicator

Optional Features

Auto Cycling of Power Stroke
Foot Switch Operation

Auto Lube Integration
Pressure Switch Sensing
Safety Light Curtain Integration
Ejection Cylinder Integration
Parking Feature

Automatic Feeder Integration
Inching facilitiy



Series ‘A’ Press Cylinder Dimensions

—OIL FILL/ AIR VENT PLUG OIL RESERVOIR
_@ — = = ‘N' B.S.P. PORTS o E =]
4Nos. C—» L ‘F THDS. e py O
e OILDRAINPLUG Ofio
1 i
p—
= -——&- = - — HE 2G ZHY SQ. K SQ. -
;
\/ T * A~
&
FOR MOUNTING x
[——
B—=1 A ! ‘L’ 4 NOS. FOR 2 & 4 TONNES
L’ 6 NOS. ON ‘M’ P.C.D. FOR 8 TONNE
MODEL TON | Total |Power| A B c D E F QG | @H | J K L M N P Ag g‘clmlﬁgu
No. @58ARS| Stroke | Stroke sQ. | sa. @5BARS
A 016-75 1 75 24 522 78 4 19.0 30 M20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 5.0
A 016-100 1 100 24 572 78 4 19.0 30 M20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 5.3
A 016-150 1 150 24 672 78 4 19.0 30 M20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 5.9
A 021-50 1.7 50 6 475 125 4 19.0 30 M20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 3.5
A 021-75 1.7 75 6 525 125 4 19.0 30 M20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 3.8
A 021-100 1.7 100 6 575 125 4 19.0 30 M20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 4.1
A 021-150 1.7 150 6 625 125 4 19.0 30 M20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 4.7
A 024-75 1.7 75 12 541 59 4 19.0 30 20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 5.6
A 024-100 1.7 100 12 591 59 4 19.0 30 20x1.5 25 45 80 55 M12x1.75 - 1/4” 158 5.9
A 024-150 1.7 150 12 691 59 4 19.0 30 20x1.5 25 45 80 55 M16x2 - 1/4” 158 6.5
A 026-75 2 75 24 571 81 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 10.3
A 026-100 2 100 24 621 81 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 10.9
A 026-150 2 150 24 721 81 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 121
A 041-50 4 50 6 512 140 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 6.7
A 041-75 4 75 6 562 140 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 7.4
A 041-100 4 100 6 612 140 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 8.0
A 041-150 4 150 6 662 140 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 9.2
A 044-75 4 75 12 608 44 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 11.7
A 044-100 4 100 12 658 44 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 12.3
A 044-150 4 150 12 758 44 4 22.0 35 M24x2.00 32 55 102 78 M16x2 - 1/4” 200 13.5
A 046-75 4 75 24 671 110 4 25.0 35 M36x2.00 50 75 126 - M16x2 105 1/2” 245 20.1
A 046-100 4 100 24 721 110 4 25.0 35 M36x2.00 50 75 126 - M16x2 105 1/2” 245 21.3
A 046-150 4 150 24 821 110 4 25.0 35 M36x2.00 50 75 126 - M16x2 105 1/2” 245 23.7
A 081-50 8 50 6 571 160 4 25.0 35 M36x2.00 50 75 126 - M16x2 105 1/2” 245 12.7
A 081-75 8 75 6 621 160 4 25.0 35 M36x2.00 50 75 126 - M16x2 105 1/2” 245 13.9
A 081-100 8 100 6 671 160 4 25.0 35 M36x2.00 50 75 126 - M16x2 105 1/2" 245 15.1
A 081-150 8 150 6 771 160 4 25.0 35 36x2.00 50 75 126 - M16x2 105 1/2” 245 17.6
A 084-75 8 75 12 740 41 4 25.0 35 36x2.00 50 75 126 - M16x2 105 1/2" 245 22.2
A 084-100 8 100 12 790 41 4 25.0 35 36x2.00 50 75 126 - M16x2 105 1/2” 245 23.4
A 084-150 8 150 12 890 41 4 25.0 35 36x2.00 50 75 126 - M16x2 105 1/2" 245 25.9
Output Forces (Kgf.) at Inlet Air Pressure of 5 Bars.
To Calculate Compressor Power Capacity Tonnage | AO16 [A021/024| A026 |A041/044| A046 [A081/084
1HP = 120 litres of Free Air (NL) Per Minute at 5 Bars. Aooroach % % 120 120 70 120
N = Number of Cycles per minute PP
Q= Free Air Consumed Per Cycle (From Chart) in Normal Litres (NL) Power 975 1700 1970 4000 3900 7750
Power Required Q1TX0N (HP) or % X 0.746 (KW) Return 140 | 140 | 210 | 210 | 290 | 290

Example :- A 4Tonne,50mm stroke with 6mm power stroke press is used at 5 bars to cut Aluminium ‘washer from a sheet of 10 pieces per minute.

1) From above chart model A41-50 cylinder consumes 6.7 NL of air per cycle
2) @ 10 strokes/min air consumption = 6.7 X 10 = 67.0 NLPM

3) Electric Power Used = 67.0+120 =0.56 HP~0.42 KW

4) Cost of electricity @ Rs 10.0 per KWH =0.42 X 10 = Rs 4.20

5)

Cost of electricity per cur piece = 4.20+10+60 = 0.007 Rs i.e 0.70 paisa per piece

Note : Due to constant improvements, dimensions and technical specifications are
subject to change without notice.



2.8} Series ‘N’ Hydro Pneumatic Press Cylinder ||

"l
| = -
T

M

* POWER STROKE DEPTH

OIL FILL / AIR VENT PLUG

LOW OIL LEVEL SENSOR

PARKING VALVE
FOR HIGH SPEED
APPLICATIONS

AUTO LUBE

OUTPUT OIL PRESSURE

CONTROL

REGULATOR AIR PRESSURE
GAUGE

SUB-BASE MOUNTED

SOLENOID VALVES FOR

QUICK REPLACEMENT WITHOUT
DISTURBING ORIGINAL PIPING

HEAVY DUTY PISTON TYPE AIR
PRESSURE REGULATOR WITH
LOCKABLE KNOB TO ADJUST
TONNAGE

GAUGE CALIBRATED
TO INDICATE FORCE

PRESSURE GAUGE
ISOLATOR VALVE TO
ENHANCE GAUGE LIFE

PRECISION HONED &
HARD CHROME PLATED
BARRELS

PRECISION GROUND &
HARD CHROME PLATED
PISTON ROD

BLEED VENTS TO DETECT
SEAL WEAR

FLOW CONTROL VALVE FOR
FORWARD SPEED CONTROL

(% OPTIONAL FEATURES)

COMPACT “TRUE” TWO HAND “NON TIE DOWN” SAFETY CONTROLS

DE2HS

AUTO / MANUAL INDICATOR

FUSE

DIGITAL STROKE

COUNTER POWER “ON” SWITCH

EMERGENCY STOP BUTTON

HEAVY DUTY, TWO HAND SAFETY, SHROUDED PUSH BUTTONS
(CAN BE MOUNTED AT ANY CONVENIENT LOCATION)

Standard Features
Auto & Manual Mode
2 Hands Safety

Digital Stroke Counter
Low Qil Level Indicator

Optional Features

Auto Cycling of Power Stroke
Foot Switch Operation

Auto Lube Integration
Pressure Switch Sensing
Safety Light Curtain Integration
Ejection Cylinder Integration
Parking Feature

Automatic Feeder Integration
Inching facilities



M\  Series ‘N’ Press Cylinder Dimensions MERCL

OIL FILL/ AIR VENT PLUG OIL RESERVOIR
( OIL LEVEL SENSOR m/ﬁ OIL DRAIN PLUG

= |

OIL DRAIN PLUG

D E

‘N’ B.S.P. PORTS c | ‘P THDS.
4Nos. [‘

C 4
1 , 7@7 - @ X ©G OH ‘J'SQ.K SQ.-
& i

FOR MOUNTING

i - I
I

~

©-

B 1 A |

‘L’ 4 NOS. FOR 2 & 4 TONNES
‘L’ 6 NOS. ON ‘M’ P.C.D. FOR 8, 15, 30 & 45 TONNES
MODEL TON | Total |[Power| A | B | ¢ | D | E F @G | GH | J K L M| N P | Q(NL)
No. Stroke | Stroke SQ. | sQ. AIR. CONSU.
016-75 75 24 639 - 4 9.0 30 20x1.5 5 45 78 55 12x1.75 - /4" 160 6.8
016-100 100 24 689 10 4 9.0 30 20x1.5 5 45 78 55 12x1.75 - /4" 160 7.3
016-150 150 24 789 10 4 9.0 30 20x1.5 5 45 78 55 12x1.75 - /4" 160 8.2
021-50 2 50 6 493 6 & 9.0 30 20x1.5 25 45 78 55 12x1.75 - /4" 160 4.0
021-75 2 75 6 543 6 & 9.0 30 20x1.5 25 45 78 55 12x1.75 - /4" 160 4.4
021-100 2 100 6 593 106 & 9.0 30 20x1.5 25 45 78 55 12x1.75 - /4" 160 4.8
021-150 2 150 6 693 106 < 9.0 30 20x1.5 25 45 78 55 12x1.75 - /4” 160 5.7
024-75 2 75 12 639 - & 9.0 30 20x1.5 25 45 78 55 M12x1.75 - 1/4” 160 6.8
N 024-100 2 100 12 689 10 4 19.0 30 M20x1.5 25 45 78 55 M12x1.75 - 1/4” 160 7.3
N 024-150 2 150 12 789 10 4 19.0 30 M20x1.5 25 45 78 55 M12x1.75 - 1/4” 160 8.2
N 026-75 1.95 75 24 680 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 13.6
N 026-100 1.95 100 24 730 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 14.5
N 026-150 1.95 150 24 830 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 16.2
N 041-50 4 50 6 534 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 8.0
N 041-75 4 75 6 584 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 8.8
N 041-100 4 100 6 634 86 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 9.7
N 041-150 4 150 6 734 86 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 11.4
N 044-75 4 75 12 680 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 13.6
N 044-100 4 100 12 730 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 14.5
N 044-150 4 150 12 830 - 4 22.0 35 M24x2 32 55 108 78 M16x2 - 1/4” 205 16.2
N 046-75 4.35 75 24 717 - 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 30
N 046-100 4.35 100 24 767 20 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 32
N 046-150 4.35 150 24 867 20 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 36
N 081-50 8 50 6 571 - 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 18
N 081-75 8 75 6 621 - 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 20
N 081-100 8 100 6 671 116 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 22
N 081-150 8 150 6 771 116 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 25
N 084-75 8 75 12 717 - 4 24.0 35 M36x2 50 75 145 - M16x2 105 1/2” 265 30
084-100 8 100 12 767 20 4 24.0 35 36x2 50 75 145 - M16x2 105 1/2” 265 32
084-150 8 150 12 867 20 4 24.0 35 36x2 50 75 145 - M16x2 105 1/2” 265 36
086-75 7.25 75 24 760 - 4 24.5 50 56x3 80 90 182 - 20x2.5 125 1/2” 330 52
086-100 7.25 100 24 810 90 4 24.5 50 56x3 0 90 182 - 20x2.5 125 1/2” 330 55
086-150 7.25 150 24 910 90 4 24.5 50 56x3 0 90 182 - 20x2.5 125 1/2” 330 62
51-50 15 50 6 617 33 4 24.5 35 40x2 56 90 182 - 20x2.5 125 1/2” 330 33
51-75 15 75 6 667 33 4 24.5 35 40x2 56 90 182 - 20x2.5 125 1/2” 330 36
51-100 15 100 6 717 183 4 24.5 35 40x2 56 90 182 - 20x2.5 125 1/2” 330 40
51-150 15 150 6 817 183 4 24.5 35 40x2 56 90 182 - 20x2.5 125 1/2” 330 46
54-75 15 75 12 760 - 4 24.5 35 40x2 56 90 182 - 20x2.5 125 1/2” 330 54
54-100 15 100 12 810 90 4 24.5 35 40x2 56 90 182 - 20x2.5 125 1/2” 330 57
54-150 15 150 12 910 90 4 24.5 35 40x2 56 90 182 - 20x2.5 125 1/2” 330 64
56-75 14.75 75 24 854 - 4 26.0 50 56x3 0 90 240 - 24x3 150 1/2” 420 92
56-100 14.75 100 24 894 58 4 26.0 50 56x3 0 90 240 - 24x3 150 1/2” 420 96
56-150 14.75 150 24 994 58 4 26.0 50 56x3 0 90 240 - 24x3 150 1/2” 420 104
301-50 30 50 6 672 20 4 26.0 40 48%3 63 90 240 - 24x3 150 1/2” 420 56
301-75 30 75 6 722 20 4 26.0 40 48%3 63 90 240 - 24x3 150 1/2" 420 60
301-100 30 100 6 772 190 4 26.0 40 48x3 63 90 240 - 24x3 150 1/2” 420 64
301-150 30 150 6 872 190 4 26.0 40 48x3 63 90 240 - 24x3 150 /2" 420 72
304-75 30 75 12 854 - 4 26.0 40 48x3 63 90 40 - 24x3 150 /2" 420 95
304-100 30 00 2 894 58 4 26.0 40 48x3 63 90 40 - 24x3 150 /2" 420 99
304-150 30 50 2 994 58 4 26.0 40 48x3 63 90 40 - 24x3 150 /2" 420 107
306-100 30 00 4 133 - 4 31.0 50 64x4 0 00 5 - 42x4.5 75 3/4” 459 218
306-150 30 50 4 233 - 4 31.0 50 64x4 0 00 5 - 42x4.5 75 3/4” 459 231
306-200 30 200 4 333 - 4 31.0 50 64x4 0 00 5 - 42x4.5 75 3/4” 459 243
451-100 45 00 6 842 161 4 31.0 50 64x4 0 00 5 - 42x4.5 75 3/4” 459 10
451-150 45 50 6 942 161 4 31.0 50 64x4 0 00 5 - 42x4.5 75 3/4” 459 22
451-200 45 200 6 042 211 4 31.0 50 64x4 0 00 5 - 42x4.5 75 3/4” 459 34
454-100 45 00 2 015 - 4 31.0 50 64x4 0 00 285 - 42x4.5 75 3/4” 459 75
454-150 45 50 2 115 - 4 31.0 50 64x4 0 00 285 - 42x4.5 75 3/4” 459 87
454-200 45 200 2 215 38 4 31.0 50 64x4 0 00 285 - 42x4.5 75 3/4” 459 99
To Calculate Compressor Power Capacity Output Forces (Kgf.) at Inlet Air Pressure of 5 Bars
:\IHP’\TU:T]Q&':Z?SC;‘;E?:}) eArI:’n(iﬁBePer Minute at 5 Bars. Tonnage | 1T |1.95T| 2T | 4T |4.35T|7.25T| 8T |14.75T] 15T | 30T | 45T
Q= Free Air Consumed Per Cycle (From Chart) in Normal Litres (NL) Approach | 60 | 120 | 60 | 120 | 275 | 475 | 275 | 435 475 435 680
_ axN axN Power  |1050| 1950 | 2050|4000 | 4350 | 7250 | 8585 | 14750 | 14800 [ 29175 | 44950
Power Required = =—2= (H.P.) or ——>7= x 0.746 (KW) Return | 100 | 200 | 100 | 200 | 425 | 700 | 425 | 1050 | 825 | 1160 | 1300

Note : Due to constant improvements, dimensions and technical specifications are
subject to change without notice.



% % %

A Series

Plain

PLAIN (2P--) & WITH

N Series

ANTI ROTATION GUIDE (2P--R)

A

E

2 Column Presses

A

A Series

Anti Rotation Guide

N Series

Series

N Series

Guided Moving Platen

MOVI

WITH GUIDED
NG PLATEN (2P--G)

SN

| | z
AN z 7
_ A b - | 7>\
T-8 T' SLOT T-10 ‘T’ SLOT /M\
e NN
| | g
DIAGONAL ‘T SLOTS
ON BASE & MOVING PLATES
ANTIROTATION 'N' (2 NOS.) SCREWS
GUIDE (\h FOR LOCKING
I
%3 PRESS | PRESS %)
CYLINDER CYLINDER
|
| * \
R | i M BB —/  #R
T =% ; j r =7,
= ) 1 T /o
I
oK f 7Rz -
ov N
‘N’ (2 NOS.) SCREWS ow ok
b & FOR LOCKING o
c DETAIL “D1” ci
- |
@ _ P | DIAGONAL 0 P
| 1 T SLOTS | 1
I e M LH I S ] e Sy L s L H
T B L el B
_  R'THDS.(4NOS)
FOR MOUNTING
pLain | WITH | WITH 115y B|lc|ci|p|E|F|a|at|H|J|ok|L|Li|m|mi| N|go|P|oa| R|T| U|oVv|ow
ARG | GMP
2P02 | 2PO2R | 2P02G | 2 | 350|240 270| 270|250 320 160| 425|459 38 | 55 | 20 | 25| 38| 6 | 10| M6 | 60 | 18| 45 |M10| 8 | 215| 32 | 32
2P04 | 2P04R | 2P04G | 4 | 400|300 ]300 302|300 | 364|205 | 493 |534| 43 | 55 | 25 | 30 | 43| 10| 12| M8 | 75 | 18| 55 |M12] 8 | 270 40 | 38
2P08 | 2POSR | 2P08G | 8 | 435|300 ]300 304|300 405 | 205|513 |564| 53 | 55 | 25 | 40|53 | 10| 12| M8 | 105 | 20| 75 |M12| 10| 265| 55 | 50
2P15 | 2P15R | 2P15G | 15 | 510|325 | 350|352 | 350 | 465| 215|633 | 694 | 68 | 85 | 30 | 60 | 68| 10| 12| M8 | 130 | 25| 90 |M16] 10| 285 65 | 63
2P30 | 2P30R | 2P30G | 30 | 525|350 350|353 | 350 | 480 | 240|677 765 85| 85 | 40 | 80| 85| 12 | 15| M10| 130 | 25| 90 |M20] 10| 310| 76 | 73
2P45 | 2P45R | 2P45G | 45 | 630 | 400|390 390|400 575|250 796|860 95 |100] 50 [100] 95 | 20 | 15 |M12| 130 | 25 | 100 |M20] 10| 350 | 90 | 90

<% Available with series ‘A Hydro Pneumatic Cylinder



m 4 Column Presses MERGL M

5 N Series £ : N Series . a N Series
A Series A Series A Series
Plain Anti Rotation Guide Guided Moving Platen
PLAIN (4P--) & WITH WITH GUIDED
ANTI ROTATION GUIDE (4P--R) MOVING PLATEN (4P--G)
A ‘R’ (4 NOS.) DRILL & COUNTER ﬁ A
E ‘ FOR ALLEN CAP BOLT

FOR MOUNTING ‘_7 E —>‘
DIAGONAL ‘T’ SLOTS ON

MOVING & BASE PLATES

¢
“
-

"

A\
A\
A\

A
&

iy
4 S~ = 4
= 9= V (1 s e
- + - +  FoB : - + - + F
\ /Zﬁwii\ #U | /zﬁwis\ #U
©s | € T O | +©
L
T sLoT L?é J( :E
ANTIROTATION E ‘ I ‘N’ (2 NOS.) SCREWS
GUIDE oK FOR LOCKING
PRESS N (2 NOS.) SCREWS PRESS :@
:@ CYLINDER FOR LOCKING CYLINDER :
DETAIL “D1”
’*|$ RO EﬁE’*ﬂ ﬁﬁi =T/ Eﬁ%ﬂ
= ) | == LI/ e
L1 ] A O
@J\ 91*H*1° . Ce At ¢ |
“D1” — S
oV * " ; ] I ow I
G {77
c D * oK Lo
‘ @0 _p T-8 ‘T SLOT T-10 ‘T’ SLOT @0 ‘ p

N [ el s My R B L
J

1 S B ]
] | ® &
‘R’ THDS. (4 NOS.)

FOR MOUNTING
WITH | WITH

ARG GMF,TONABCC1DEFGG1HJQKLL1MM1NQOP¢QRTUQVQW

!
:
#
|

PLAIN

4P02 | 4PO2R | 4P02G | 2 |340|250|270(270(250|200|220|417(445|32|53|20|25(32|10(10| M6 | 60 | 18| 45 |[M10| 8 | 75 | 30 | 30
4P04 | 4P04R | 4P04G | 4 |383|300|300(300(300|225|270|480(516|38|47|25|30(38|10(12| M8 | 75 | 18| 55 |[M12| 8 | 75 [ 35 | 35
4P08 | 4PO8R | 4P08G | 8 |484|300|350(354(300|275|270|513(564|53|55|25|40(53|10(12| M8 |105|20| 75 |M12|10| 75 | 55 | 50
4P15 | 4P15R | 4P15G | 15 |500|325|350 (350 (350|275|285|621(677|62| 80|30 |60(62|10(12| M8 | 130|25| 90 |M16| 10| 80 | 60 | 60
4P30 | 4P30R | 4P30G | 30 |510|350|350(350(350|275|310|659(734|72|80|40|80(72|12|15|M10|130|25| 90 |M20| 10| 90 [ 70 | 70
4P45 | 4P45R | 4P45G | 45 | 610|400 | 400 | 400 |400|300|350|786(840|85|100( 50 |100( 85|20 | 15|M12| 130 | 25| 100 |M20| 10| 85 | 80 | 80

<% Available with series ‘A Hydro Pneumatic Cylinder B



ae) ‘C’ Frame Presses MERCURY

N Series ‘ N Series N Series
A Series A Series A Series
Plain Anti Rotation Guide Guided Moving Platen
PLAIN (1C--) & WITH WITH GUIDED
ANTI ROTATION GUIDE (1C--R) MOVING PLATEN (1C--G)
OUTPUT FORCE I —
! ! PRESSURE GAUGE \
WITH ISOLATOR VALVE
PRESS
\JJE;/ CYLINDER ‘4@ FLOW CONTROL VALVE  |°® $ °
FOR DOWNWARD
t t i SPEED CONTROL ng
\ [0 \ \
| ‘ ‘ |
I| 1 i DIAGONAL iiigﬁi -
i il T L L
II===suil /TSLOTS T35 11T
[T () ol |
e NS
B “p2”
¢ D1 \ X \
G J | H |
~eo- | | | s
I#H**H%jf s a—
u 2Q J«—‘ P
v
I (O
1 Wlﬁ !_[11_\ ‘i‘ ‘i‘
—— |
’ | N \
! Q'R 4 HOLES
FOR MOUNTING
‘N’ (2 NOS.) SCREWS * 1
FOR LOCKING |
—9 ! L J{ i
1 L 1
QK M
| oK — M1
‘N’ (2 NOS.) SCREWS FOR LOCKING
T-8 ‘T’ SLOT T-10 ‘T’ SLOT DETAIL “D2” DETAIL “D1”
prai | WITH | WITH ol A [ B | c|D|D1| E|F |G| H|J|ok|L|Lt|m|m| N|oo|P|oaler| s |T|u|v | w]|x]|Y

ARG GMP
1C02 | 1C02R | 1C02G | 2 |[465|767|125|255|221(400| 85 (230|230 38| 20 [25|38| 6 [10( M6 | 60 (18| 45 | 13 [566 | 8 | 75 | 240 | 180 | 266 | 200
1C04 | 1C04R | 1C04G | 4 | 550890150 |310|270|480| 120280280 (43| 25 (30|43 10|12 M8 | 75 (18| 55 | 13 | 664 | 8 | 100 | 270 | 225 | 337 | 200
1C08 | 1CO8R | 1C08G | 8 |[640|984 (175|300 | 250 (575|150 (330|350 |53 | 25 [40|53| 10|12 M8 |105(20( 75 | 13 [ 715 (10| 100 | 322 [ 296 | 408 | 230
1C15 | 1C15R | 1C15G | 15 | 700 |1149| 200 | 350 | 310 | 630 | 150 | 380 | 380 (62| 30 (60 (62| 10|12 M8 [ 130 (25| 90 | 17 | 839 | 10| 125|372 | 311 431|250
1C30 | 1C30R | 1C30G | 30 |750|1217(200 | 350 | 310 (680 | 175|380 | 380 | 72| 40 (80| 72| 12| 15(M10| 130 (25| 90 | 17 (892 10| 125|397 | 365 | 500 | 250
1C45 | 1C45R | 1C45G | 45 | 925 |1266| 200 | 350 | 341 | 855 | 225|380 | 475 | 77| 50 (100[ 77| 20|20 [M12( 130 25| 100 | 17 | 941 | 10| 125 | 402 | 425 | 560 | 280

% ok %

<% Available With Series ‘A’ Hydro Pneumatic Cylinder. n



/Y\ Compact ‘C’ Frame Presses \IE -1{ JRY

ANTI ROTATION

GUIDE
‘N’ SERIES PRESS
CYLINDER |
+
\ T | CONTROL
== PANEL
TTT [T T7iT e
Ve L @ Tt
o]l = [y
HTH »‘10‘« — 5mm FOR 2T ‘ ;‘ ! ‘;
! 9mm FOR 4T v I
| . .
il B 1 ‘ ‘N’ THD'S (2 NOS.)
= | )| FOR sHANK
M L g M LOCKING
I — 18 |=— I’ ’T
B ARALLEL T-8 ‘T’ SLOT L ‘ ‘ M
T SLOT —=l=rex

w)

|

|

\

‘ |
| ﬂmh — 11 | H |
A . | |

21
'R 4 HOLES

T-10 ‘T’ SLOT FOR MOUNTING |
T

R

MODEL
No.

3C02R 2 245 | 437 | 125 | 65 200 | 200 | 120 | 120 | 150 27 12 30 10 M6 13 8 115 | 150 35 103
3C04R 4 345 | 470 15 75 200 | 300 | 170 [ 140 | 200 35 16 30 10 Mé 13 8 150 | 200 50 138
3C08R 8 415 | 545 20 100 | 250 | 320 | 200 | 180 | 250 35 25 30 10 M6 13 10 180 | 230 72 184
“%| 3C15R 15 495 | 630 - 100 | 200 | 420 | 100 | 175 | 300 50 30 40 10 M8 13 10 200 | 276 - 276

TON A B B1 Cc D E F G H J oK L M N R T \ w w1 Y

<% (Note:-For 3C15R compact ‘C‘ frame press, an ‘N’ series hydro pneumatic cylinder will be supplied.)

SPECIAL PRESSES
Im -

7

Shatt Straightening Press Manually Operated Press Hexagonal Marking Machine



= 1~y - }
A Series 'Z' Hydro Pneumatic Systems MERCURY
. . . . N\
Pneumatic Circuit Diagram
A
[~ OIL RESERVOIR
INTENSIFIER
\ Wit ISOLATOR VALVE
VALVE ‘A mp.S
5/2 SOLENOID-SPRING VALVE
FOR APPROACH RAPID STROKE \ B C L
‘NEXH%CVL
FILTER, REGULATOR HYDRAULIC
& LUBRICATED SET EXH cyL XYLINDERS
(NOT SUPPLIED BY US) &)
L\ EXHAUST X X X X
SILENCER
@
D D D D
EXH CYL
IN
3/2 HAND SLIDE VALVE <
(TO SHUT / OPEN AIR VALVE P
SUPPLY) / 3/2 SOLENOID-SPRING VALVE WITH
REGULATOR ‘R’ FOR EXTERNAL PILOT FOR POWER STROKE
TONNAGE ADJUSTMENT
\ [FiG.1] )
General Introduction
The series ‘Z' Hydro Pneumatic System has been developed for the applications where two or more Cylinders have
to be operated from a single Reservoir-Intensifier Power unit. They are also useful for applications requiring a large
travel under load (large Power Stroke) and for applications where the length of our standard ‘N’ Series / ‘A’ Series
Hydro Pneumatic Press Systems cannot be accommodated.
The systems consists of :-
(a) An integral Intensifier-Reservoir unit.
(b) Single or several Hydraulic Cylinders connected to the Intesifier-Reservoir unit through suitable high pressure
flexible hoses and operated by solenoid valves as shown in circuit Fig. 1.
HYDRAULIC CYLINDER
‘L' 4 NOS. FOR @50, @80
‘0’ BSP PORT »r« c & @100 HYDRAULIC CYL.
FOR AIR CONNECTION
@”7 —_— 71 ‘F'THD'S
PLUG TO *
BLEEDAIRXE— 44— - 4—-—— 2G oH — K’ sQ. J sQ.
‘N' BSP PORT
FOR OIL CONNECTION ‘' 6 NOS. ON ‘M' P.C.D. FOR
B A D E @160 HYDRAULIC CYL.
[
Q = FREE AIR CONSUMPTION PER CYCLE (LITRES). —
FORCE (Kgf) OIL DISPLACEMENT i
MODEL &5BAR (cu cm) A |B|C|D|E F G|H| J | K L M|N]|O|Q SEQLKIT
PER mm [FOR TOTAL 2|0 BSP [BSP |(NLPM)[ ™
APPROACH| RETURN | Tpave ! [T aveL
750-50 98 58 2 100 188 | 22| 4 |22|35| M24x2 |32 45| 88 | 57 | M16x2 | - |1/2"| 1/4”]0.35 | 129-014
Z50-100 98 58 2 200 238 |22 4 [22(35| M24x2 |32[45| 88 | 57 | M16x2 | - |1/27| 1/47| 0.7 | 129-014
750-150 98 58 2 300 288 (22| 4 [22]35| M24x2 [32(45| 88 | 57 | Mi6x2 | - |1/2"|1/4"| 1.0 | 129-014
750-200 98 58 2 400 338 |22 4 [22|35| M24x2 [32|45| 88 | 57 | Mi6x2 | - |1/27| 14 | 1.4 | 129-014
780-50 250 171 5 250 211 [25| 4 [24|35| M36x2 |45(60| 125 | 86 [M20x25| - |3/4"|1/4" | 1.0 | 129-015
780-100 250 171 5 500 261 | 25| 4 |24 35| M36x2 |45[60 | 125 | 86 |M20x25| - |3/4”| 1/4"| 2.0 | 129-015
780-150 250 171 5 750 311 [25| 4 | 24|35 M36x2 [45|60| 125 | 86 [M20x25| - |[3/4" | 1/4"| 3.0 | 129-015
780-200 250 171 5 1000 | 361 |25| 4 [24[35| M36x2 |45(60 | 125 | 86 |M20x25| - |3/4”| 1/4"| 4.0 | 129-015
2100-50 392 269 8 400 223 | 30| 4 |24 (35| M40x2 |56 |75 155 | 107 | M24x3 | - |3/4”| 1/2"| 1.6 | 129-016
Z100-100 392 269 8 800 273 (30| 4 [24|35| M40x2 56|75 155 | 107 | M24x3 | - |34 [1/2”] 3.2 | 129-016
Z100-150 392 269 8 1200 | 323 |30| 4 [24 (35| M40x2 |56 (75| 155 [ 107 | M24x3 | - |3/4”| 1/2"| 4.8 | 129-016
Z100-200 392 269 8 1600 | 373 |30| 4 [24[35| M40x2 |56 (75| 155 | 107 | M24x3 | - |3/47| 1/2"| 6.4 | 129-016
Z160-50 1000 850 20 1000 [238.5|45| 4 [29 (40| M48x3 |63 [75[240 | - |M30x35[ 135 | 17 | 1/2"| 5.0 | 129-017
Z160-100 1000 850 20 2000 [288.5(45( 4 [29|40| M48x3 [63|75|240 | - [M30x35|135| 17 | 1/2 [10.0 | 129-017
7160-150 1000 850 20 3000 [338.5(45| 4 [29|40| M48x3 [63|75|240 | - [M30x35|135| 1 | 1/2 [15.0 [ 129-017
Z160-200 1000 850 20 4000 |388.5(45| 4 (29 (40| M48x3 |63 |75(240 | - [M30x35(135| 1 | 1/2" [20.0 [ 129-017




}
NERCURY
INTENSIFIER RESERVOIR UNIT
Reservoir
VOLUMETRIC OIL
MODEL DISPLACEMENT P B'\S/IP S% T FRE(SAIR SEﬁtKlT
FOR(’ZEPCano)ACH ' CONSUMPTION i
$ Q e [& : PER CYCLE (NL)
,%%, 80-400 400 323|147 | 98 |310 23 129-010
& Q@ © 80-800 800 483 | 1/4” | 98 | 470 45 129-010
100-1200 1200 467 | 1/4” | 118 | 454 7.0 129-011
E ‘R’ SQ.
\ 160-2200 2200 285 1/2" | 185 | 267 10.8 129-012
160-3000 3000 505 | 1/2” | 185 | 487 18.0 129-012
‘K THD'S /‘M’ BSP PORT
_ - 200-4700 4700 536 | 1/2" | 227 [ 518 28.2 129-013
200-6000 6000 600 | 1/2 | 227 | 582 36.1 129-013
| BB
w ! ‘M’ BSP PORT
| PRESSURE GAUGE
. ‘ WITH ISOLATOR
I VALVE :
$ ﬁ*f |
¢ \ ST ‘N’ BSP PORT \ P \
‘ ! ! O-J+P
o n | | J | N
| s ‘
- et —— & L (@)
| PORT - » = (v)
% THD'S 1
Hve | A Ca o
& | & HOLES
‘ ‘ ‘ ‘ ‘ R’ SQ. E
D C I
| |
Vertical Installation Horizontal Installation
Intensifier
MODEL OUTPUT MAX. OIL TONNAGE FOR HYD. CYL.
RATIO OIL PRESSURE | DISPLACEMENT A B C DIE|J B|;P g B';p 0| S Q SEQLKIT
FOR POWER FREE AIR CONS. o.
@5BAR | SrROKE cu.cm | Z50|Z80(Z100(Z 160 PER CYCLE (NL)
80-14-200 | 32 160 27 31|80 X X |347(433| 597 | 63|98 |19 |1/2"| 12 |1/4"| 63 | 373 1.8 129-001
80-14-400 | 32 160 57 3180 X X |547(633| 997 | 63| 98 |19 [1/2°| 12 |1/4”| 63 | 573 23.7 129-001
80-20-200 | 16 80 55 15| 40 | 62 | X |347(433|597 | 63|98 |19|1/2°|12|1/4”| 63 |373 1.6 129-002
80-20-400 | 16 80 17 15| 40 | 62 | X |547(633| 997 | 63|98 |19 [1/2"12|1/4"| 63 |573 234 129-002
100-16-200 | 39 195 35 98 | 1563 | X |353|439| 603 |75|118|19|1/2| 14 [1/4”| 71 | 382 18.6 129-018
100-16-400 | 39 195 75 X | 98| 153 | X |553|639(1003| 75 |118|19 [1/2"| 14 |1/4"| 71 | 582 37.2 129-018
100-20-200 | 25 125 55 25|62 | 98 | X [353|439| 603 |75|118|19|1/2"| 14 [1/4”| 71 | 382 18.4 129-003
100-20-400 | 25 125 17 25|62 | 98 | X |553|639[1003|75|118|19|1/2"| 14 [1/47| 71 | 582 37.0 129-003
100-28-200 | 12.5 64 107 12| 32| 50 | X |353[439| 603 |75[118|19[1/2"| 14 |1/4”| 71 | 382 18.1 129-004
100-28-400 | 12.5 64 230 12 32| 50 | X |[553]|639|1003| 75 |118|19|1/2"| 14 |1/4"| 71 | 582 36.2 129-004
160-28-200 | 32 160 107 31 80| X |320(383]|513| 659 |115|185| 19 |1/2"| 18 [1/2"|115| 435 475 129-019
160-28-400 | 32 160 230 31| 80| X | 320 [583]713|1059(115|185|19|1/2"| 18 |1/2’|115]| 635 95.0 129-019
160-32-200 | 25 125 140 25| 62| 9.8 | 250 (383|513 | 659 |115|185| 19 |3/4"| 18 [1/27|115| 435 472 129-005
160-32-400 | 25 125 300 25| 62| 9.8 | 250 (583|713 |1059|115|185| 19 | 3/4”| 18 [1/2"|115| 635 9.5 129-005
160-40-200 | 16 80 220 15| 40 | 6.2 | 16.0 | 383|513 | 659 |115(185| 19 [3/4"| 18 |1/2"[115| 435 46.8 129-006
160-40-400 | 16 80 470 15| 40 | 6.2 | 16.0 |583|713|1059|115(185| 19 [3/4”| 18 |1/2"[115| 635 935 129-006
200-32-200 | 39 195 140 9.8 | X | 39.0 |392|532| 673 |135|227| 19 |3/4"| 22 [1/2"| 115 | 449 74.4 129-007
200-32-400 | 39 195 300 9.8 | X | 39.0|592|732[1073(135|227| 19 | 3/4”| 22 [1/2”| 115 | 649 148.8 129-007
200-40-200 | 25 125 220 25| 62 | 9.8 | 25.0 | 392|532 673 [135|227| 19 | 3/4”| 22 [1/2"| 115 | 449 73.9 129-008
200-40-400 | 25 125 470 25| 62 | 9.8 | 25.0 | 592|732 |1073(135|227| 19 | 3/4"| 22 [1/27| 115 | 649 147.6 129-008
200-56-200 | 12.5 63 430 12| 31| 50 | 127 392532 673 |135(227| 19 [3/47| 22 |1/2’[115| 449 72.5 129-009
200-56-400 | 12.5 63 923 12| 31| 50 | 127 |592732(1073|135(227| 19 [3/4"| 22 |1/2"|115| 649 144.8 129-009




Hydro Pneumatic Systems For Pet Moulding Machines

A

SERIES ‘AM’ STANDARD PNEUMATIC
CYLINDER FOR STRETCH PINS

SERIES ‘CH HOLLOW SHAFT
PNEUMATIC CYLINDER FOR \

NECK SEALING

_— OILRESERVOIR

/ CUSHION SOLENOID VALVE
SCREW WITH LOCKNUT

TO ADJUST DECELARATION

D-m

Q—)
<

1

1

1
-?- o

1

5/2 SOLENOID-SPRING
VALVE

EXHAUST
= EX”W/S\LENCEF{

1/2" 3/2 HIGH PRESSURE
SOLENOID-SPRING VALVE
WITH EXTERNAL PILOT

MODEL NP314H

3/2 SOLENOID-SPRING
VALVE N\

NON RETURN VALVE

LOW PRESSURE
/ REGULATOR
SET TO 6 Kg/cm2

LOW PRESSURE AIR

MODEL NR47 ﬂ
LP.IN =
~ O
H.P. IN
4DUAL PRESSURE S
BLOW SOLENOID VALVE

MODEL NP314D

®) 710 9 Kglem?

HIGH PRESSURE AIR
35 TO 40 Kg/cm2

/HIGH PRESSURE REGULATOR

SET 15 TO 30 Kg/cm2

MODEL RH4
SERIES ‘X' HYDRO PNEUMATIC SYSTEM
FOR MOULD OPEN CLOSE & LOCK j
N \( \( Combo Cylinder A
Hydro Pneumatic Mould
Open-Close System with Neck Sealing Cylinder
Decelaration Valve with Hollow Shaft Stretch Pin Cylinder
AN
Model No. | Tonnage | Tot@! | Power | Seal Kit MODEL PISTON | SEAL KIT MODEL PISTON | SEALKIT
Travel | Stroke [ Model No. No. @ (mm) No. No. @ (mm)
Egzgi'l gg g 123 g 90-035 CH50-25HP(12) 50 90-077 PL40-400-12-330 | 40 90-054 \ ‘CH' Series + Stretch Pin Cy1.
- 90-035
CH50-50HP(12 - -400-12- _
5040X100 n o0 13 50036 (12) 50 90-077 PL50-400-12-330 | 50 90-053
POA0X-150 ) w0 3 90036 CH50-75HP(12) 50 90-077 PL50-400-16-330 | 50 90-075
P040X-200 4 200 3 90-036 CH50-150HP(12) 50 90-077 PL50-600-16-375 50 90-075
P040X-250 4 250 | 3 90-036 CH63-50HP(12) 63 90-095 PL50-600-20-375 | 50 90-085
POGOX-150 6 150 3 90-104 CHB3-115HP(12) | 63 90-095
POBOX-100 8 0] 8 90-057 CHB3-150HP(12) | 63 90-095
P0BOX-150 8 150 | 3 90-037 CHe3200hP (2
PO80X-200 8 200 [ 3 90-037 ' 12| es 90-095
P0B0X-250 8 250 | 3 90-037 CH80-25HP(12) 80 90-074
P150X-100 15 100 3 90-038 CHB80-50HP(12) 80 90-074
P150X-150 15 150 | 3 90-038 CH80-50HP(14) 80 90-074
2‘5°§'200 1: 200 | 8 90-038 CHBO-50HP(16) | 80 90-074
150X-250 250 | 3 90-038
50300 = 0 T3 50038 CH100-50HP(11) | 100 90-097
P300X200 0 200 | 3 90039 CH125-50HP(16) | 125 90-080
P300X-250 30 250 3 90-039 CH125-50HP(20) | 125 90-080
P300X-300 30 300 | 3 90-039 CH125-60HP(14) | 125 90-076
P300X-350 30 350 3 90-039 CH125-60HP(16) | 125 90-076
P310X-300 31 300 | 3 90-100
P310X-350 31 35 | 3 90-100



Pneumatic Valves For Pet Moulding Machines

p

Single Blow Solenoid Valve

PORT
M%EEL DESCRIPTION SIZE | SYMBOL SEQ‘(—) KIT
: (BSP) :
3/2 (3 WAY) HIGH o210

s NP314H%* PRESSURE BLOW 12> SKNP314H

) SOLENOID VALVE o ey

B

sk ADD VOLTAGE & CONNECTOR SUFFIX WHILE ORDERING

AN

AN

AN

Dual Blow Solenoid Valve
PORT SEAL KIT
MODEL DESCRIPTION SIZE SYMBOL No.
No. (BSP)
LP[H.P
3/2 (3 WAY)
NP314D* | DUAL PRESSURE N
BLOW SOLENOID VALVE |"2"|172 SKNP314D
Pressure Pressure
s% ADD VOLTAGE & CONNECTOR SUFFIX WHILE ORDERING
Dual Blow Solenoid Valve
PORT
MODEL DESCRIPTION SIZE SYMBOL SEALKIT
No. (BSP) ’
SPV1047 % LP|H.P SKSPV1047
3/2 (3 WAY)
DUAL PRESSURE 147 [1/2"
4| BLOW SOLENOID VALVE SKS
SPV1044 1a| 34 KSPV1044
% ADD VOLTAGE & CONNECTOR SUFFIX WHILE ORDERING
Cushion Solenoid Valve
MODEL DESCRIPTION PORT loRmIFICE|  symBoL SEALKIT
No SIZE | (mm) No.
: (BSP)
2
NP215C* 2/2 (2 WAY) N.O. 3/4” ©20.00 10 } 12 SKNP215C
CUSHION SOLENOID M%%ETL )E
NP216C* VALVE 1 |o24s50 | o] SKNP216C
1
% ADD VOLTAGE & CONNECTOR SUFFIX WHILE ORDERING
High Pressure Regulator
PORT
MODEL SEALKIT
No DESCRIPTION SIZE SYMBOL No
: (BSP) :
HIGH PRESSURE @
RH4 REGULATOR WITH ) |
PRESSURE GAUGE 12 ‘ SKRH4
[ I
HIGH PRESSURE ?
RH6 REGULATOR WITH v \
PRESSURE GAUGE | SKRHE
K [I—
Connector 230VAC | 24VAC | 12VAC | 24VDC | 12VDC | 110VAC | 48VAC
BLACK A B [ D E F G
ILLUMINATED| L M N P Q R S




All India Sales & Service Network MERCL

® Chandigarh

® Delhi

® Jaipur

® Ahmedabad
® |[ndore
e vadodara

® Kolkata

® Kolhapur

® Hyderabad

Bangalore e Chennai

[ )
Coimbatore

( A
[=] :
L Mercury Website About Us All Products Contact Us )

e Ahmedabad e Aurangabad e Bangalore ® Chandigarh e Chennai ® Coimbatore ® Hyderabad e Indore

e Jaipur @ Kochi @ Kolhapur @ Kolkata ® Mumbai ® Nasik @ New Delhi @ Pune ® Vadodara




